

$$\begin{aligned}
 \text{ii), } \left(\frac{2}{3}\right)^2 \times \left(\frac{3}{4}\right)^3 &= \frac{2}{3} \times \frac{2}{3} \times \frac{3}{4} \times \frac{3}{4} \times \frac{3}{4} \\
 &= \frac{2 \times 2 \times \cancel{3} \times \cancel{3} \times 3}{\cancel{3} \times \cancel{3} \times \underset{2}{4} \times 4 \times 4} \\
 &= \frac{1 \times 1 \times 1 \times 1 \times 3}{1 \times 1 \times 1 \times 4} = \frac{3}{4}
 \end{aligned}$$

$$\begin{aligned}
 \text{iii), } \left(\frac{-1}{5}\right)^3 \times \left(\frac{5}{9}\right)^2 &= \left(\frac{-1}{5}\right) \times \left(\frac{-1}{5}\right) \times \left(\frac{-1}{5}\right) \times \left(\frac{5}{9}\right) \times \left(\frac{5}{9}\right) \\
 &= \frac{(-1) \times (-1) \times (-1) \times \cancel{5} \times \cancel{5}}{5 \times 5 \times 5 \times 9 \times 9} \\
 &= \frac{1 \times \cancel{5} \times (-1)}{1 \times \cancel{5} \times 5 \times 9 \times 9} \\
 &= \frac{-1}{5 \times 9 \times 9} = \frac{-1}{405}
 \end{aligned}$$

$$\begin{aligned}
 \text{iv), } (-4)^3 \times \left(\frac{5}{8}\right)^2 &= (-4) \times (-4) \times (-4) \times \frac{5}{8} \times \frac{5}{8} \\
 &= \frac{-16 \times (-4) \times 5 \times 5}{\cancel{8} \times 8} \\
 &= \frac{-1 \times \cancel{8} \times 25}{\cancel{8} \times 1} \\
 &= \frac{-25}{1} = -25
 \end{aligned}$$

$$\begin{aligned}
 \text{v), } \left(\frac{5}{3}\right)^2 \times 9^2 \times \left(\frac{2}{3}\right)^2 &= \frac{5}{3} \times \frac{5}{3} \times 9 \times 9 \times \left(\frac{2}{3}\right)^2 \\
 &= \frac{25}{9} \times 9 \times 9 \times \frac{2}{3} \times \frac{2}{3} \\
 &= \frac{25}{1} \times \frac{9}{1} \times \frac{2}{3} \times \frac{2}{3} \\
 &= \frac{25 \times 9 \times 2 \times 2}{1 \times 1 \times 3 \times 3} \\
 &= \frac{25 \times 1 \times 2 \times 2}{1 \times 1} \\
 &= \frac{100}{1} = 100.
 \end{aligned}$$

$$\begin{aligned}
 \text{vi), } (5^3 - 5^2) \times \left(\frac{3}{2}\right)^2 \times \left(\frac{4}{5}\right)^2 \\
 &= (125 - 25) \times \frac{3}{2} \times \frac{3}{2} \times \frac{4}{5} \times \frac{4}{5} \\
 &= 100 \times \frac{3 \times 3 \times 4 \times 4}{2 \times 2 \times 5 \times 5} \\
 &= \frac{4 \times 100 \times 9 \times 4}{1 \times 1 \times 25} \\
 &= \frac{4 \times 9 \times 4}{1 \times 1 \times 1} \\
 &= 36 \times 4 \\
 &= 144
 \end{aligned}$$

6 Simplify and express as a rational $\frac{8}{2}$
number:

$$\begin{aligned} \text{i)} \quad \left(\frac{2}{3}\right)^3 \times \left(\frac{9}{4}\right)^2 &= \frac{2}{3} \times \frac{2}{3} \times \frac{2}{3} \times \frac{9}{4} \times \frac{9}{4} \\ &= \frac{\overset{1}{2} \times \overset{1}{2} \times \overset{1}{2} \times \overset{3}{9} \times \overset{3}{9} \times 1}{\underset{1}{1} \times \underset{1}{3} \times \underset{1}{3} \times \underset{2}{4} \times \underset{2}{4} \times 1} \\ &= \frac{1 \times 1 \times 1 \times 3 \times 1}{1 \times 1 \times 1 \times 2 \times 1} = \frac{3}{2} \end{aligned}$$

$$\text{ii)} \quad \left(\frac{4}{7}\right)^2 \times \frac{35}{8} \times \left(\frac{-2}{5}\right)^2 \quad 198/783$$

$$\begin{aligned} &= \frac{4}{7} \times \frac{4}{7} \times \frac{35}{8} \times \left(\frac{-2}{5}\right) \times \left(\frac{-2}{5}\right) \\ &= \frac{4 \times \overset{1}{4} \times \overset{1}{35} \times (-2) \times (-2) \times (1)}{1 \times \underset{1}{7} \times \underset{1}{7} \times \underset{1}{8} \times \underset{1}{5} \times \underset{1}{5}} \\ &= \frac{4 \times 1 \times 1 \times (-2) \times (1)}{1 \times 7 \times 1 \times 1 \times 5} \\ &= \frac{8}{35} \end{aligned}$$

$$\begin{aligned} \text{iii)} \quad \left(\frac{2}{3}\right)^3 \times 3^4 \times \left(\frac{-1}{4}\right)^3 &= \\ &= \frac{2}{3} \times \frac{2}{3} \times \frac{2}{3} \times 3 \times 3 \times 3 \times 3 \times \left(\frac{-1}{4}\right)^3 \\ &= \frac{2 \times 2 \times 2 \times \overset{1}{3} \times \overset{1}{3} \times \overset{1}{3} \times 3}{1 \times \underset{1}{3} \times \underset{1}{3} \times \underset{1}{3}} \times \frac{(-1)^3}{+4^3} \end{aligned}$$

$$= \frac{1 \cdot 1 \cdot 1}{\cancel{2} \times \cancel{2} \times \cancel{2} \times 3 \times (1) \times (1) \times (1)} \\ 1 \times \cancel{4}_1 \times \cancel{4}_2 \times 4$$

$$= \frac{3 \times (-1)}{2 \times 4} = -\frac{3}{8}$$

$$(iv), \left(\frac{3}{4}\right)^3 \times \left(\frac{1}{3}\right)^2 \times \left(\frac{-8}{27}\right)$$

199/783

$$= \frac{3}{4} \times \frac{3}{4} \times \frac{3}{4} \times \frac{1}{3} \times \frac{1}{3} \times \left(\frac{-8}{27}\right)$$

$$= \frac{\cancel{3}^1 \times \cancel{3}^1 \times \cancel{3}^1 \times 1 \times 1 \times (-8)}{4 \times 4 \times 4 \times \cancel{3}_1 \times \cancel{3}_1 \times 27 \cdot 9} (-1)$$

$$= \frac{-1}{2 \times 9 \times 4} = -\frac{1}{72}$$

$$(v), \left(\frac{2}{3}\right)^2 \div \left(\frac{-2}{3}\right)^3 = \left(\frac{2}{3}\right)^2 \times \left(\frac{-3}{2}\right)^3$$

$$= \frac{2}{3} \times \frac{2}{3} \times \left(\frac{-3}{2}\right) \times \left(\frac{-3}{2}\right) \times \left(\frac{-3}{2}\right)$$

$$= \frac{\cancel{2}^1 \times \cancel{2}^1 \times (-3)^{-1} \times (-3) \times (-3) \times (-1)}{3 \times 3 \times \cancel{2}_1 \times \cancel{2}_1 \times \cancel{2}_1 \times 1}$$

$$= \frac{(-1) \times (-3) \times (-1)}{2 \times 1} = -\frac{3}{2}$$

$$(vi), \left[\frac{4}{9} - \left(\frac{-2}{3}\right)^3\right] \div \left(\frac{5}{3}\right)^2$$

$$= \left[\frac{4}{9} - \frac{(-8)}{27} \right] \times \left(\frac{3}{5} \right)^2$$

$$= \left(\frac{4}{9} + \frac{8}{27} \right) \times \frac{9}{25}$$

$$= \left(\frac{12+8}{27} \right) \times \frac{9}{25}$$

$$= \frac{4}{27} \times \frac{9}{25}$$

200/783

$$= \frac{4 \times 1}{3 \times 5} = \frac{4}{15}$$

$$\text{(vii), } (3^2 + 4^2) \times \left(\frac{1}{5} \right)^3 \times \frac{20}{7}$$

$$= (9 + 16) \times \frac{1}{125} \times \frac{20}{7}$$

$$= \frac{25}{125} \times \frac{1}{5} \times \frac{20}{7}$$

$$= \frac{1}{5} \times \frac{20}{7} = \frac{4}{7}$$

$$\text{(viii), } (13^2 - 12^2) \times \left(\frac{-3}{5} \right)^3 \times \frac{5}{2}$$

$$= (169 - 144) \times \left(\frac{-27}{125} \right) \times \frac{5}{2}$$

$$= \frac{25}{1} \times \frac{-27}{125} \times \frac{5}{2}$$

$$= \frac{1 \times (-27) \times 1}{1 \times 1 \times 2} = \frac{-27}{2}$$

$$(ix), \left(\frac{3}{7}\right)^2 \times \frac{3\sqrt{5}}{3^2} \times \left(\frac{-1}{5}\right)^2$$

201/783



$$= \frac{1 \cdot 9}{49} \times \frac{3\sqrt{5}}{9} \times \frac{1}{25}$$

$$= \frac{1 \cdot \sqrt{5}}{7 \times 25} = \frac{1}{35}$$

$$(x), \left[\left(\frac{1}{3}\right)^3 - \left(\frac{1}{2}\right)^3\right] \times \frac{6^2}{5}$$

$$= \left(\frac{1}{9} - \frac{1}{8}\right) \times \frac{36}{5}$$

$$= \left(\frac{8-9}{72}\right) \times \frac{36}{5}$$

$$= \frac{-1}{72} \times \frac{36}{5}$$

$$= \frac{-1 \times 1}{2 \times 5} = -\frac{1}{10}$$

$$(xi), \left[\left(\frac{1}{2}\right)^3 - \left(\frac{1}{3}\right)^2\right] \times \left(\frac{3}{5}\right)^2 \times \left(\frac{-2}{3}\right)^3$$

$$= \left(\frac{1}{8} - \frac{1}{9}\right) \times \frac{9}{25} \times \frac{-8}{27}$$

$$= \left(\frac{9-8}{72}\right) \times \frac{9}{25} \times \frac{(-8)}{27}$$

$$= \frac{1}{72} \times \frac{9}{25} \times \frac{(-8)}{27}$$

$$= \frac{1 \times 1 \times (-8)}{8 \times 25 \times 27} = \frac{-1}{675}$$